I BRI Schrodinger F7F2 (# [k 20230309)

1 PR GE LT AR

() PRSI (5 AT U = A ™7, B BN U (7, 1);
(b) I BRI P L
L WIS R R4 (B AT A S 6);
i WAL A2 R A s
o« WERE LR SR RES B R B J LR, VAR [H]
HRHFER T IR, dW (7, t) = [O(7,1)| 2dr = w(F,t)dr =
U Wdr;
(@) w FEIRAE 7 PR UT B AR A 4R BRI E;
(b) e PREHLAETR MRS

(@) PEFHHEF:
TR RO M R MU R R T
B ISR B R BT S R, | St | = | Srea
A [ 02dr = 1;
A 3 R L S5 4 2 IR AL, TR R P U
BRSNS 7 L AR A
B FL T WEHCRI )7 TR JAT (e 6(2) =
e [ TR B R R RS RS, il
1 HRE AR T s
i TR )2 = |
(b) AT bRHESS P
i AT TR 2 T AR, LA 6 BT B — s
i R BEREE (B RR0 TR 2 IR A FREIR N 2 1,
R BRI B A 2 B PR
i, M PR R R
© ARIMETE: 25 U, K RI— RO RERA, LA 1L
U = 5, e 0;. o AR T A IR B, 2 R S
A




L AR S [A] A 97 R BCA AL 1 ¢ I HHEAE 7 AL ROMER
ii. gyt oS A RGO  ¢ 2B A S p AR
2. Schrodinger J5 % (5 R EL B[R] 42 AL FUALAD):
(@ Jy RS TER, Schrodinger Jy R EAT AT, 3X HUURESZ T
e, FFRARHE S
1 R RS ER AT W(F, ) = Aek PT=E 23 RIS R [R] SR — 43
IR TR R B o

U7 .
1 J >
P
IR

3
i

-

O — ¢
5V BV
2 Ap2  i(p.i— 2 = 2
LW = ek PTE) = Lt = VU = LU
2 —_ 72
— P~ 4B, 5OV b g2
HE= 2,13 ihS = —5-V°¥

—~

0 EV =ihZ . E —ihg
(- P)¥ = (—ihV) - (—ihV) ¥ p— —ihV
HIABWUTRE B = L + U(F), FABME R Q0 = [- V2 +
U(r)]w.
(b) BEEIE IR R 2 U(7 1) = [~ V2 + UF)]U(7, 1)
(© —ETL:

i fESEL: E — ihd;
i, RS §— —ihY
i, AR H = £+ U(R);
ih2U = HU

ot :
(d) PR V5 7 R I o [ 5 2 i A Atk TR R S5 st o, S RE G S AR X 78
AP AR B 17 R R R O T AR e IS 3 A s
(€ BT FPHMEARLN B G S35 R LTI h AR
HY AT
(O BRI —E A, TR
AR [P = [ G Pdr = 0 B IA-fl
PRy B 5 MR P2 15 R B TR AL A SR 2 1
i JURSFEER: 2O+ V- T =0
A BERR B R J = L [OVE* — UV, 1] I LR
T s



(9) A& N5 Efﬁ%ﬁﬁﬁ’]ﬁﬂfﬂim%/\(ﬁ L GNEE AU RARES
3. ARG FE:

(@ B SRR B AE: X TR WM < F >=
[ Fvdr

L AEEEEE: < 7 >= [FU(F )|2dr = [ Uildr;
i < 0 >= = = [UH(7, )~ RV]U(7, t)dr;
A JHFER A R %ﬂfﬂﬁaﬁ JEAL R 12 0;
i, BRI < p>=m < T >= [ U [—ihV]|Wdr;

0 PEEEIRER: 04 = \/< (A= < A>)2 > = V< 22> — < A>2,
— W < A% >>< A >

4. ENEEETS T

(@) AAEPRELHY IEAS M X T AAEBRE o T s A [ 0 PdT = Sims

i BIAAE 7S 2 WA B0 i BT A A /R R 25 [R) Y 52 £ 1E 38 I — ) 3t
R
(b) EAEEE TS T RE: M0 AN 2 A e R B e 15 T s
Sfof: iU — (7, 1)
. . hol —F
b W7, 8) = $(7) F(). W N RO = Ly Bisash T2
0y = By

A S N, Tl AF A U (7, t) = Z ot (F)e ™ n € N¥;
HANAE BRI IE S, AT o, H-JFXTAI* SEIFRG e = [, 0 (7,0)
i fIH—fER: 21 leal? =13



~

i, ﬁ%ﬁﬁﬁ“ﬁ@ﬂﬁ%ﬁr <F>= i w2 fu:

© I ZiTakE: éﬁ¥&?ﬂazﬂzu§ﬂ%?mh*ﬁ AR LT
FY R TS B G5 AR AL R 1 B B AT L AR (L —, T
15 fo BOMERIE [en P XS FOAT RS E] W HIRER
(@) SRAEAS R A
i REAS: PR LB RS, T R 2R SE YRR AR AR
HIE < min(V(+00), V(—00)), X EILMA £ < 0;
A RAGSIRESUR S, HAK R EAETC I AL 0;
i B AS: PEREUR TR LIS (ETCSTIRARA N 0), il
R FIFELAR DR k ARiC. B E > min(V (400), V(—00)), X H

SR E > 0;
\ NE Y O _a S x S a’ s e an
5 —HTCRRIR T Bk V(x) = L RABETSEEETS T

S 2 272
B HAERGR: B = 2 n € N

(@) RGIAMERHL: (7) = A'sin (32 (2 +a)) = {

a;

(O —Mfi#: O(r,t) = z_: cnﬁ sin (22 (z +a)) e ’gnfba?ht,
HEE A RERUN 0 RN RERHE TG
(0) A MARRER RIS BRI, £ 4ETCERARTT B2

n=1;

(O FHRRFRIE: AAERRER) n 20 3 BT BB ET, 57 R 200 A2 77
BRIEON S R A

6. PLPRBUESLAAF:
(@ HRBOCIR: PRBGES:, PR B — P SBORES:

e M _
Asm—an n=2,4,6, ...,
BceosZhr n=1,3,5,..

a



(b) FBRECAIR: P RAGESE, BRI — W Sz Ss:
7. —4E 5 HBE V(e) = —ad(x), HME—REE
(@) I IR1EE: ARSI AR b1, S SOB ST R B RECR

ik

(b) —4E 6 #2z: V(z) = ad(x — a),a > 0;

\ o Vo x| <a
8. —#EA MR HGE: V() = ;
0 la] > a

(@ SERIES: £ AHIRE T IR = 3 = =

I KL T S B T A2 S
9. YIEL RS

(@ AFFHR: P(—z) = —1b(x);
) FEFHR: p(—2) = p(x);
(©) X T PR ORISR P REAT X FR
i BAETIRAREN RS, AT IRAIIG 2
i XT A FARARERY RS, ARG IR Y TR E:;
10. ESHIEANE P
(@ UIER o = 1 + o, by M o HOZ SLRAL, J20E ASBEETS RN LAY
RERLAE(EDY B IR, T o B SRR RE AT T RE A
L B GO JER AR, W] A et S s AU E 0 58 AR E
T RERY M
(b) X F—HEE A E 1S I FE, AR oy M o RS B RE BEAE
{EoN B PRI TR A (RTFA), WS ATRY BT EAT 51500 2

Z; ZZ = Pl — ap] = constant;
© AT Yl E AT TR, SR BB AR A Y Ze
SR AW, A RS 2 A 2
L X THERRES, — RSN EHERL N 2
(d) X$F—4ERBE, Fra REHEARR Y, 17 L R EUZ L5




=
i

() XJF— A4 USRI RERAF A BT AR, RIS BT A R AL
EAERS Yp(2)

TE
N&g—~hE ZJK (@) HATE R FHRNE:
1. ﬁ?ﬁ%ﬁ’ﬁr Z]’l/)('rjyxz) = (iUi,.’Ej), E ])5 =1



